5.2 HAFEEFT
(CPIREUS)

1. In(k_shotoku); FF1SH

obs 940
R2C 0.99
HEETHARY [1991-2010
2013 EHFEHR
E3: tE
In(YWHZ) 0.284 13.343 [k
In(K SHOTOKU(-1)) 0.751 40.969 [***
SZRDI1 0214 5.835 [%hk
SZRD2 0.105 2.894 [xex
SZRD3 0.000 0.002
YBD 0.219 17.040 [sorx
GZD1 -0.120 ~7.341 [¥*%
CTAT 0.135 10.290 [k
DIJOU -0.115 —3.732 [¥**
Constant -1.502 —11.181 [*¥k JtiEE
-1486 | 11623 [k E219
-1.500 | —11.417 [ S
-1415 | —11.466 [xxx JLiE
-1451 | —11.283 |5 chip
-1448 | -11.351 [soex Pt 3
-1461 | 11551 [sex hE
-1428 | —11542 |soex mE
-1462 | —11524 [sxx S
-1425 | —11.318 [#kx R
0.275 8.772 |Hoxx Ed
2. In(k_hjn); EAFL
obs 987
R2C 0.89
H#EETHARY [1990-2010
2013FEHERHR
(XS tfiE
Constant -11.781 —14.359 |*¥*
In(GDPN*CORPTRATE/100) 1.286 86.880 |***
GDP/GDPP 4334 5437 %%k
3. Ln(K_SHOUHD; ;& &%
obs 987
R2C 0.96
HEETHARS  [1990-2010
20134 I EER
53 i
[Constant -3.324 | —32.889 [#*x
[In(GDPN*CTAX) 1174 | 146733 [wkk
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1. In(_shotoku); {AA{EEFi

obs 940
R2C 0.99
H#ESTHART [1991-2010
2013 EHTEHR
£ g
In(YWH) 0.607 23915 [okk
In(L_ SHOTOKU(-1)) 0.428 18.139 [#kx
JRD1 -0.011 -0.425
JRD2 -0.126 -4.751 [tk
JRD3 -0.124 ~4.754 [k
DIJOU 0.137 5019 [k
Constant -2511 |  -18.497 [#kx dtimE
-2.486 | —19.015 [*¥x Rit
-2.404 | -18.489 [#kx S
-2.391 | -18.851 [k« JiE
-2424 | -18572 [#kx thp
-2.368 | -18.526 [#kx S
-2452 |  -18.958 [#kx hE
-2405 | -18.958 [#kx o =
-2473 | -18.983 [#kx S
-2.480 | -18.926 [#kx Pk |
0.079 3.674 |*nk HA
2. din(Lhin); iEANERTR
obs 987
R2C 0.96
[HEETHARS [1990-2010
2013EEHTEHR
E3 tiE
Constant -7.055 | -38.768 |#kx s
-6.951 | -42.199 [#kx =i
-6.834 | -39.699 [¥kx Y
-6.758 | —41.550 [#kx pld
-6.834 | —39.564 [%kx D
-6.823 | -40.137 [¥kx plig-3
-6.833 | -41.831 [#kx hE
-6.718 —42.047 [*xx HE
-6.909 —42.169 [k Fuil
-7.040 | -42.892 |k« Shig
0.188 3.782 %k HA
In(GDPN) 1103 | 104.629 [k«
3. din(I_seisan); £EIZFRESNBH(ZFD1h)
obs 940
R2C 0.18
#EHHART [1991-2010
2013 EHTERHR
E3 i
din(GDPn) 1.187 2.55 ¥k s
1.186 8.98 [*¥x Rit
0.776 5.25 |kxk =L
0.793 4.04 [#kx pld
0.864 5.78 [*k* I
0570 3.76 |k¥x plin-
1.053 5.89 [Hkk FE
0618 354 [Hx mE
0.640 477 [#kx S
0.174 0.39 Shid
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